SM 6/3/67 Scholersup 3B

March 1, 1967

Report of the Committee on Scholarships, Awards, and Bursaries

A Committee to deal with Scholarships, Awards, and Bursaries was established initially by the President in September 1965, with the following membership: Professor T. B. Bottomore (Chairman), Dr. G. Kirchner and Dr. A. M. Unrau. This Committee was responsible for awarding scholarships, for making awards for athletics and for other contributions to University life (in the Student Council, the threatre, the student newspaper), and for granting bursaries in the Fall Semester 1965 and the Spring Semester 1966.

Following the constitution of Senate a permanent committee was established by Senate at its meeting of April 4, 1966. The membership of this Committee is: Professor T. B. Bottomore (Chairman), Dr. F. F. Cunningham, Dr. G. Kirchner, Dr. R. G. Korteling, Dr. T. J. Mallinson, Dr. A. M. Unrau, and Mr. B. J. Penny (Secretary). At the same time two other committees were established by the President, one under the chairmanship of Dr. Kirchner, to advise on Athletic Awards, the other, under the chairmanship of Dr. Mallinson, to advise on University Awards. These committees make their recommendations directly to the President, but their proposals are also reviewed and approved by the Committee on Scholarships, Awards, and Bursaries.

The Committee held its first meeting on April 18, 1966, and since that time it has met regularly at the beginning of each scmester to make the various awards, and on at least one other occasion during each semester to review the awards and to discuss general matters of policy.

The appendices of the present report provide information on the scholarships, awards, and bursaries granted in each semester since September 1965.

At one of its meetings during the Summer Semester, the Committee is required to prepare a budget for the next financial year and to propose an allocation of funds between the three semesters. Our proposals for 1967-68, which were presented for incorporation in the University budget, as follows:

University Athletic Aw		•	\$25,000. \$25,000.
Bursaries:	Summer 1967 Fall 1967 Spring 1968	\$35,000. \$90,000. <u>\$90,000.</u>	\$ <u>215,000.</u>
· ·	Total:		\$265,000.

From this total sum there should be deducted the funds made available privately for awards and bursaries, and the Committee considers that these will probably amount to \$40,000. in the year 1967-68. The University does not provide any scholarships from its own funds, and consequently these are not included in the budget. Scholarships from private sources will probably amount to some \$5,000. in the year 1967-68.

II.

To Senate

Ŧ

III.

The Committee has also been concerned to establish formal procedures for making the different awards. Bursary applications now go directly to Mr. Penny, the Financial Aid Officer; a provisional list of bursaries is approved by the Committee before registration takes place at the beginning of each semester; and students are informed of the probable amount of their bursaries during registration. Subsequently, the bursary list is reviewed in the light of student requests for additional aid and of funds available, and it is then finally approved. The procedure has worked well in the last two semesters and we are pleased to be able to report that the Financial Aid Officer was congratulated in the student newspaper for the manner in which bursaries are handled.

5M6/3/67 Schreenerips

Athletic Awards and University Awards are determined by the two President's Committees referred to earlier, upon recommendations made by individuals who have observed the student's contribution to University life, or in the case of a student entering for the first time, his contribution in high school or in his community.

Scholarships have been awarded by the Committee on the basis of semester grades and reports from the student's teachers. However, we consider that the procedures here need to be improved, in order to provide more public competition for scholarships. We propose that in future, therefore, students should present themselves as candidates for scholarships during the first week of each semester, on the basis of their grades in the previous semester which they attended, and that the candidates should then be considered by a committee in the dicipline or Faculty to which each scholarship relates, with an interview as part of the procedure where necessary. These committees would then make recommendations to our Committee. This practice has already been followed in some cases, and we think that it should become general.

During the past year the Committee has discussed a number of policy questions.

It was evident that the sum of money available for bursaries in 1966-67 did not fully meet the needs, and the Committee has proposed an increase for the next financial year. During the current year some alleviation of the situation has resulted from our being able to devote to bursaries, surpluses from the Athletic Awards and University Awards funds, but such surpluses are not likely to occur in future.

It is also evident that the University is very poorly endowed with scholarships for undergraduate and graduate students. The Committee has discussed this matter on several occasions, but we consider that it could best be tackled by the University as a whole, and that a public appeal for scholarships might be envisaged.

> T. B. BOTTOMORE Chairman Senate Scholarship and Awards Committee

V.

IV.

SM 613167

Achreatices 1

SENATE COMMITTEE REPORT ON FINANCIAL AID SCHOLARSHIPS

FALL 1965	NUMBER AWARDED	AVERAGE SCHOLARSHIP	AMOUNT
Private Scholarships	7	\$221.	\$1,550.
SPRING 1966 Private	بم _ن		
Scholarships	5	\$688.	\$3,438.
<u>CUNDER 1966</u> Private Scholarships	4	\$250.	\$1,000.
ALL 1966			
rivate cholarships	3	\$200.	\$ 600.
PRING 1967 rivate			
cholarships	Ĵ0()/	\$181. <u>Total of Private</u> <u>Scholarships to date</u> :	<u>\$2,000.</u> \$8,588.

5M 6/3/67

Acholarships Appendices 1

PRIVATE SCHOLARSHIP

RECIPIENTS

FALL 1965

NAME OF SCHOLARSHIP	RECIPIENT	FACULTY	AMOUNT
Girl Guides of Canada	Lorna J. Bennett	Science	\$100 <i>.</i>
Vancouver Postal Club Scholarshi	p John Edward Betts	Science	\$200.
Aluminum Company of Canada, Ltd.		Arts	\$250.
Aluminum Company of Canada, Ltd.	Hartmut Reinert	Science	\$250.
B.C. Hydro and Power Authority	Joyce J. Johnstone	Science	\$250.
B.C. Hydro and Power Authority	Rose-Marie Legros	Arts	\$250. \$250.
B.C. Hydro and Power Authority	Wayne N. Wynn	Arts	-
		Total:	<u>\$250.</u> \$1,550.
SPRING 1966			
NAME OF SCHOLARSHIP	RECIPIENT	FACULTY	AMOUNT
The J.T.E. Palmer Memorial			
Scholarship	Janice Alke	Science	\$500.
P. D. McTaggart-Cowan Award in Physical Science	Peter Vitins	Science	\$300.
B.C. Hydro and Power Authority	Glenn Disney	Science	·
James H. Edwards Sr. Scholarship			\$250. \$220
LaFarge Cement of North America	Denise Stubbs	Arts	\$200.
Alliance Francaise Travelling	Denise Stubbs	Arts	\$250.
Scholarship	Virginia Wyman	Arts	\$1500.
Mussallem Motors (Haney) Graduate Scholarship			
Scholel Ship	J. A. Woodsworth	Arts Total:	<u>\$438.</u> \$3.435.
		10021:	
<u>SUMER 1956</u>			<u> </u>
NAME OF SCHOLARSHIP	RECIPIENT	FACULTY	AMOUNT
Leon J. Koerner Scholarship	John E. Betts	Science	\$250.
Leon J. Koerner Scholarship	Marcia Mervyn	Education	ş250 .
eon J. Koerner Scholarship	Constance Rupert	Arts	\$250.
LaFarge Cement of North America Ltd. Scholarship	Sharon Boyle	Arts	\$250.
		Total:	\$1.000.

SM 6/3/67

Acholarehips 3B

PRIVATE SCHOLARSHIPS

RECIPIENTS

Appendices 1

FALL 1966

	NAME OF SCHOLARSHIP	RECIPIENT	FACULTY	AMOUNT
	LaFarge Cement of North America Limited	Laura A. Jensen	Science	\$250.
	Aluminum Company of Canada	Shannon Moeser	Arts	\$250.
1	Girl Guides of Canada	Allistar J. MacDonald	Arts	<u>\$100.</u>
			Total:	\$600.
				•
	SPRING 1967			
	B.C. Hydro and Power Authority	M.AKreutzer	Arts	\$100.
	B.C. Hydro and Power Authority	W.A. Nelles	Arts	\$100.
	B.C. Hydro and Power Authority	W.A.B. Casson	Arts	\$100.
	J. H. Edwards Sr. Scholarship	B. Parker	Arts	\$200 .
	Harvey Scholarship in Sociology	D. Balatti	Arts	\$100.
	LaFarge Cement of North America	M.G. Callarec	Arts	\$250.
	B.C. Hydro and Power Authority	J.J. Johnstone	Science	\$100.
	B.C. Hydro and Power Authority	R.W. Moore	Education	\$100.
	J.T.E. Palmer Memorial Scholarship	L.A. Jensen	Science	\$500.\
	Aluminum Company of Canada Ltd.	G.W. Disney	Science	\$250.
	Trans Mountain Oil Pipe Line			
•	Scholarship	J.E. Betts	Science	<u>\$200.</u>
			Total:	\$2000.

Grand total of Private Scholarships \$8588.



SM6/3169

Acholarslips 311 Appendices 2

SENATE COMMITTEE REPORT

- <u>ON</u> FINANCIAL ALD

ATHLETIC AWARDS

	FALL 1965	NUMBER AWARDED	AVERAGE	AWARD	TOTAL
	S.F.U. Athletic			·	
	Awards	41	\$199.	· ·	\$2,135.
•	Private	7	\$485.		<u>\$3,400.</u>
	· · · · ·			Total:	\$11,535.
		• • •			
	SPRING 1966				
•.	S.F.U. Athletic		1		· [
	Awards		\$210.		\$5,366.
	Private	NIL			
•	• •		•	<u>Total:</u>	\$5,366.
		•	:	· · · ·	
	SUMMER 1966		•		
			: :		
		· ·	1		
	FALL 1965				
	S.F.U. Athletic Awards	53	\$204 .		\$10,834.
•	Private	1	\$500.		\$4.575.
				Total:	<u>\$15.409.</u>
	·	•			
	· · · · · · · · · · · · · · · · · · ·		· .		
	SPRING 1967				· ·
	S.F.U. Athletic		0100		\$10,076 <i>.</i>
	Awards	48	\$133.	· · ·	
	Private	1	\$500.		<u>\$ 500.</u>
			<u></u>	Total:	<u>\$10.575.</u>
		· .		-	· .
		L S.F.U. AWARDS :\$34			
		L PRIVATE AWARDS :\$ 8		•	
	TOTAL OF ALL AWAR	DS : \$42	,836.		

SM 6/3/67

Bcholarship 33 Appendices 2

SENATE COMMITTEE REPORT ON FINANCIAL AID ATHLETIC AMARDS

FALL 1965

NAME OF AWARD	RECIPIENT	SPORT	AMOUN
Leon J. Ladner Athletic Award	Gary C. Conley	Football	\$250.
B.C. Lions Football Scholarship	Paul Dumas	Football	\$45C.
(Courtenay-Comox) Fred H. Dietrich Athletic Award	James W. Jardine	Football	\$500.
Victor V. Spencer Athletic Scholar-			•
ship	Russell W. Jenkins	Football	\$750.
F.D. Bolton Athletic Scholarship	Robert J. McLaren	Football	\$50O.
Carling Breweries Swimming Scholar- ship	Mary P. Stewart	Swimming	Ş500.
B.C. Lions Football Scholarship	Edward B. Warkentin	Football	<u>\$450</u>
	• • • • • • • • • • • • • • • • • • •	Total:	\$3400.
•			
SPRING 1936 NIL			
		•	÷
SURMER 1966 NIL		:	
		·	· .
FALL 1966	· ·	:	
		• :	• •
C.D. Harmon Grant-in-Aid Scholarship	Ernest G. Burgess	Football	\$\$00.
C.W. Donnelly Football	Wayne F. Holm	Football	\$1000.
Scholership			:
Fred H. Dietrich Athletic			2020
Scholarship	James Jardine	Football	\$250.
Victor V. Spencer Athletic Scholarship	David E. Sterritt (only ½ of \$750 did not return for Sp. '6	Football	\$375 .
Adshead Athletic Scholarship	Richard R. Sugden	Football	ş250.
Grant McConachie Memorial	Edward Warkentin	Football	\$900.
Athletic Scholarship			
Olson Athletic Scholarship	David LaFayette	Football	\$250.
Carling Breweries Swimming Scholarship	Robert J. Pratt	. Swimming	[:] \$500.
B.C. Lions Athletic Scholarship Courtenny-Comox)	George A. Goodwin	Swimming	<u> \$250.</u>
	}	Total	\$4575.

SM 613167 Scholar Kips 311 Appendices 2

ATHLETIC AMARDS CONTINUED

SPRING 1967		· · ·		
NAME OF ANARD		RECIPTENT	SPORT	AHOUNT
Lucky Lager Breweries Athletic Scholarship	Ltd.	Douglas R. Strong	Football	<u>3500.</u>
:	· .		Total:	\$500.

GRAND TOTAL FOR ALL PRIVATE ATHLETIC SCHOLARSHIPS : \$8,475

Simon Fraser Athletic Awards Only: ATHLETIC AMARDS BY ACTIVITY (SPORT)

· · · · · · · · · · · · · · · · · · ·	FALL 1965	SPRING 1966	SUMMER 1966	FALL 1966	SPRING 1967	Number
FOOTBALL	25	17	NIL	29	19	90
BASKETBALL	13 .	3	NIL	17	18	51
SWIMMING	3	5	NIL	6	11 :	25
· ·		·····	·	· .	· · · · · · · · · · · · · · · · · · ·	·

SM 6/3/67

Balocanships 3B

Appendices 3

SENATE COMMITTEE REPORT ON FINANCIAL AID

UNIVERSITY AWARDS

FALL 1965	NUMBER AWARDED	AVERAGE AWARD	TOTAL
University Awards	S	Ş219.	\$1,752.
SPRING 1966	ч. Ч.		
University Awards	27	\$203.	\$5,491.
· · ·			
SUNDER 1966			
University Awards	21	\$129.	\$2,700.
FAIL 1966			1
University Awards	49	\$121.	\$6,000 <i>.</i>
			i
SPRING 1967			
University Awards	43	\$131.	\$5,616.
		TOTAL TO DATE:	\$21.559.

UNIVERSITY AWARDS BY ACTIVITY

ACTIVITY	FALL 1965	SPRING 1966	SUMMER 1966	FAIL 1966	SPRING 1967	TOTAL
Economics Club		1.	2	3	2	8
Student Council	3	5	3	2	10	23
Student Newspaper	-	3	. 3	10	11	27
Theatre	2	6	7	11	10	33 ·
Contemporary Dance	-	1 -	2	· -	1	3
Film Society	-	1	1	-	1	3
High School	3	` <u>4</u>	-	10	4	21
Miscellaneous		7	: 3	13	4	27
(Annual, C.U.S., Choir, atc.))				TOTAL:	143

. .

SM 613167 Schrearships

SENATE	COMMITTEE	REPORT
		THE OILL

<u>ON</u>

FINANCIAL ALD

BURSARIES

3B Appendices 4

FALL 1965	NUMBER AWARDED	AVERAGE BURSARY	AMOUNT
Simon Fraser Bursaries Private Bursaries	269	\$167.	\$44,832.
frivate bursaries		\$197.	<u>\$ 1,375</u> .
		Total:	\$46,207.
SPRING 1966			· · · · · · · · · · · · · · · · · · ·
Simon Fraser Bursaries	1.20		. '
Private Bursaries	438 11	\$129. \$113.	\$56,661.
			<u>\$ 1.240</u> .
· · · · · · · · · · · · · · · · · · ·	``	<u>Total:</u>	<u>\$57,901.</u>
	.•	· · ·	
SUMMER 1966			••••••••••••••••••••••••••••••••••••••
Simon Fraser Bursaries	171	\$ 70 .	
Private Bursaries	12	\$103 .	\$12,115. <u>\$ 1,240</u> .
•	•	Total:	<u>\$13,355.</u>
	•	•	
FALL 1966			
Simon Fraser Bursaries	538	\$105.	\$55,430.
Private Bursaries	17	\$242.	<u>\$ 4,115.</u>
•		<u>Total:</u>	\$59,545.
• • •			
	:		
SPRING 1967	•	•	
Simon Fraser Bursaries	833	\$101.	\$84,486.00
	· · ·		(as of Feb. 21/6
Private Bursaries	6	\$116.	<u>\$ 700.00</u>
•	х -	Total:	\$85,186.00
GRAND TOTAL OF ALL BURSARI	ES TO DATE. \$262 1	Q/	
TOTAL OF ALL SIMON FRASER			· .
TOTAL OF ALL PRIVATE BURSA			
OT ALL FALVAIE BURSA	<u>RIES: \$ 8,6</u>	70.	·